6.1: Properties of Exponents
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f’ ional exponents are a way of representing radical expressions. The denominator of the

fraction signifies what kind of root you are taking (_, ndgx ). The numerator signifies the
exponent of the base inside the root.
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Ex: 32 =43 ms = Ym ys = 3/y? 2xs = 2 Yx?
1) Convert each fractional exponent to a radical expression or vice versa.
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REMEMBER: We can only combine exponents when "H'\L bay.es at “Q ML .
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2) Simplify. Your answer should contain only positive exponents.
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You will be asked to simplify expressions that have different bases. When this happens, you
must change the bases to be the same before you can start combining their exponents.

3) Simplify each of the following expressions
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